COILMAC-41ECI

2004.5.5 PAGE1l

CORE PARTS LIST

®,
Gg

&)
£5)

Og

®
®

020,
@9

®p,

)
®q

o
020
®,

M6-5

®q
B O
320,
0,00,
29,20,
O ®

®
%0
%9

%

2
¢
B123-18

M6-4W(set)

[ WM-65 ]




AKILES COILMAC-ECI41

2004.5.5

PAGE2

CORE PARTS SETS FOR COILMAC-ECI41

Part No. Description Q'ty Price (per piece)
CM41-2(Set) |CM Set of Blade 41 1Set
CM6-3W(Set) |CM Side Plate Right 1Set
CM6-4W(Set) |CM Side Plate Left 1Set
WM-02-3W Set of punch Handle 1Set
WM-02-4 Set of Punch Shatft 1Set
WM-05 Set of Depth Control Shaft 1Set
STICKER FOR COILMAC-ECI41
Part No. Description Q'ty Price (per piece)
CM41-P11 CoilMac-41ECI Sticker 1 pcs
CM41-P5 Set-pin Ruler Sticker 41 1 pcs
CM41-P6 Punch Ruler Sticker 41 1 pcs
ECI-P7 ECI-CM Operation Sticker 1 pcs
WM-P3 Logo Sticker 1 pcs
WM-P8 Depth Margin Sticker 1 pcs
WM-P48 Handle Direction Sticker 1 pcs
ECI-P15 ECI-CM Identity Sticker 1 pcs
JS2-P4 Shock Warning Sticker 1 pcs
CORE PARTS FOR COILMAC-ECI41
Part No. Description Q'ty Price (per piece)
B123-18 Hexagon Bolt M3x4 2 pcs
CM41-4 Rear Plate for Set Pin 41 1 pcs
CM6-5-1 Blade 47.5mm Length 3 pcs
CM6-5-2 Blade 48.5mm Length 3 pcs
CM®6-5-3 Blade 49.5mm Length 3 pcs
CM6-5-4 Blade 50.5mm Length 3 pcs
CM6-5-5 Blade 51.5mm Length 3 Pcs
CM®6-5-6 Blade 52.5mm Length 3 Pcs
CM6-5-7 Blade 53.5mm Length 3 Pcs
CM6-5-8 Blade 54.5mm Length 3 Pcs
CM6-5-9 Blade 55.5mm Length 3 Pcs
CM6-5-10 Blade 56.5mm Length 3 Pcs
CM6-5-11 Blade 57.5mm Length 3 Pcs
CM6-5-12 Blade 58.5mm Length 3 Pcs
CM6-5-13 Blade 59.5mm Length 3 Pcs
CM6-5-14 Blade 60.5mm Length 3 Pcs
CM6-5-15 Blade 61.5mm Length 3 Pcs
CM6-5-16 Blade 62.5mm Length 3 Pcs
CM6-5-17 Blade 63.5mm Length 3 Pcs
CM6-5-18 Blade 64.5mm Length 1 Pcs
CM6-5-19 Blade 65.5mm Length 1 Pcs
CM41-5 Set of Set-Pins 41 1 Set
CM41-6 Press Bar 41 1 Pcs
CM6-7-1 Hexagon Bolt M5x20 4 Pcs
CM41-7W 6.35mm Front Cover Plate 1 Pcs
CMe6-11 CM Rear Cover Washer Plate 1 Pcs
CM6-12W CM Rear Cover Plate 1 Pcs
CMe6-14 Extension Punch Guide 1 Set
CM6-15-4 Bolt for Inserting Guide 1 Pcs
CM41-8W CM Side Guide Plate 1 Pcs
WM-2 Frame Bar 2 Pcs
WM-23 Left Gear Set 1 Pcs
WM-24 Right Gear Set 1 Pcs
WM-27 Washer For Handle 1 Pcs




AKILES COILMAC-ECI41

2004.5.5

PAGE3

CORE PARTS FOR COILMAC-ECI41

Part No. Description Q'ty Price (per piece)
WM-37 Hexagon Bolt M5x8 8 Pcs
WM-39 Hexagon Bolt M4x6 2 Pcs
WM-41 Fastener For Handle 1 Pcs
WM-53 Cross Bolt 2 Pcs
WM-56 Frame Pole 2 Pcs
WM-57 Chip Tray 1 Pcs
WM-61 Hexagon Bolt For Side Plate SP 6 Pcs
WM-62 Cross Bolt M3x6 12 Pcs
WM-63 Bolt For Side Guide Plate 4 Pcs
WM-64 Nut 1 Pcs
WM-65 Depth Margin Bar 1 Pcs
WM-66 Depth Margin Driver 2 Pcs
WM-73 Compression Spring 1 Pcs
WM-74 Side Margin Washer 1 Pcs
WM-75 Side Margin Ruler 1 Pcs
WM-80 ¢ 4 Washer 1 Pcs
WM-83 Depth Margin Control Knob 1 Pcs
CM41-11 Coil Diameter Selector 1 Pcs
RM41-11 Crimper 1 Pcs
WM-15 Washer 8 Pcs
WM-16 Spring Washer 8 Pcs
WM-27 Washer For Handle 4 Pcs
WM-43 Rubber Feet 4 Pcs
WM-44 Cross Bolt With Washer 4 Pcs
RM31-16-1-3 |M4X6 Hexagon Bolt 1 Pcs
ECI-2 M4 X 10 Bolt 8 Pcs
ECI-3 Power Cord 1 Pcs
ECI-5 Foot Pedal 1 Pcs
ECI-6 Right Bracket 1 Pcs
ECI-7 Bearing 2 Pcs
ECI-8 EPDM Roller 1 Pcs
ECI-9 Auxiliary Roller(set) 1 Pcs
ECI-10 Supporting Bar 2 Pcs
ECI-11 Left Bracket 1 Pcs
ECI-12-1 115 V Motor 1 Pcs
ECI-12-2 230 V Motor 1 Pcs
ECI-13 Rubber Bushing 1 Pcs
ECI-14 Motor Bushing 1 Pcs
ECI-15 FUSE HOLDER 1 Pcs
ECI-15-1 FUSE(0.8) 1 Pcs
ECI-15-2 FUSE(0.5) 1 Pcs
ECI-16 SWIITCH 1 Pcs
ECI-17 O-RING 1 Pcs
ECI-18 Wire Connector 3 Pcs
ECI-21 On/Off Cable 1 Pcs
ECI-22 M5 Cross Head Bolt 4 Pcs
ECI-23 Washer 4 Pcs
ECI-24 Spring Washer 4 Pcs
ECI-25 On/Off Cable 1 Pcs
JS2-21 Cable Tie 2 Pcs
T80-25 Cable Bushing 2 Pcs
T80-27 Cable Tie Mount 2 Pcs
ECI-CM1 ECI Base Set 1 Pcs
ECI-CM4 ECI Roller Cover 1 Pcs
ECI-CM5 ECI Feet Connection Pin 4 Pcs




